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Jitter Of Madler 128'year CyCIe (https://second.wiki/wiki/mc3ad4dler-kalender)
Leap years are years divisible by 4, except for years divisible by 128.

Mean Tropical Year is in the wrong time units: Terrestrial Time (atomic)
rather than Universal Time (mean solar), and is more than 15 seconds
shorter than the mean solar northward equinoctial year.

Arithmetic average of jitter values = jitter (minimum + maximum) / 2.

x— Jitter vs. Mean Year + 0.3632815

—Jitter range = 1.6953125 = 1+89/128 days

16 32 48 64 80 96 112 128 144 160 176 192 208 224 240

Year (mean year of 365+3Y/,,4 days = 365d 5h 48m 45s = 365.2421875 days = so-called mean tropical year)
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